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Math 20 — Unit 1 — REVIEW

To the Test — be sure to bring:
(1) your personally-prepared 8 ¥ “ by 11" study guide for this test

(2) your simple, non-graphing calculator and

(3) your pencils
{(4) your BluGold ID
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6. ComWe.tqms and simplify
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7. Combine like terms and sim% K\\
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8. Solve and check the equation for the value of y:

48y+8—y—-6=54+2y-2

9. Solve check the equation for the value of m :
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10. Write the main equation for solving these two problems and then solve.
The sum of two consecutive integers is 89. Find the integers. ,
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Find three consecutive 2 odd integers such that their sum is flve

more than four times the largest integer.
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11. Write the main equation for solving these two problems and then solve.

The Rental Cars charges $39 per day plus $0.15 per mile. If J spent
$57.60 on a 1-day rental, how many miles did he drive?

T poey _ . <N 5 7@ é@
_‘%g«aﬂ (%).-:.saq Yy

18,60  multely byleo

s 1 =

TS 15
X == |a4 ﬂ)t ém)
The $120 book is now on sale for 15% off. What is the sale prlce?
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12. Write the main equation for solving these two problems and then solve.
Kit paid $12.65 for a backpack that was marked down 45%. Find

the original retail price of the backpack.
0R Lo :
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Last year Mr. Jay deposited $14,000 into an account earning 6%

simple interest for one year. How much interest was earned?
Intecest = Painedpals rate o £ ime ¢ lyear
lntecest = 14000 ¢« 00« |
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13. Geometry Review:

Find the area of this plot.
- A=3xBzsqfd
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Find the area of the outside fram'e, if the inner picture is 8 x 5 and
the entire overall framed picture is 10 x 6.
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A circle has a diameter of 8.4 ft. Find its circumference and area

using 3.14 for r. C =71 CL ﬂ 1 r.

(Round your answer to one decimal place.)
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14. Finding angle measurements:

Suppose mszw=10x-2" and mzx=9x+5 Find the measures of

| all four angles. gy +S = JO X~
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Twice the supplement of angle A is 160°more than three
times its complement Find the angle, its complement, and
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15. Application Problems: X
How many milliliters (mL) of a 12% alcohol solution must be
added to 50 mL of a 3% alcohol solution to make a 8% alcohol

solution? Express your answer as a IIliXEd number If necessary.
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